Lecture 27

Wednesday, November 1, 2017 12:34

To do ...
* CBTF Quiz 5 — this week!
* Matlab session —Thurs Nov 2, 5-6 pm, MEB 210

® Homework grade distribution

® Online + written assignment = 18%

® 211 students DO NOTTAKE 210 final, or you will get a

zero on 211 final

* HW 18 due Wed — today!
e HW 19 due Thurs

¢ WA 3 due Fri — read submission instructions
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Two uniform boxes, each with weight 200 Ib,
are simply stacked as shown. If the coefficient of
static friction between the boxes is g = 0.8
and between the box and the floor is g = 0.5,

determine the minimum force P to cause

motion.
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The uniform crate has a weight of 80 N. If a force P=50 N
is applied to the crate, determine the location of the
resultant normal force in terms of x with the origin at O?
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The crate is placed on an inclined surface and the coefficient
of static friction between the surfaces is 0.8. Which is the
correct statement regarding the potential motion of the
crate at the instant of release from rest?
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Determine the greatest
number of books that
can be supported in the
F=120N gstack.

%N(x\:

NOGS
sradic frictien hend besk = 0. 6

gﬁk%mﬁm¥mW@y:Qq

\7/'0\\3 ‘\.M.Ok \7/@“
3\1\1\11k\ul
%e‘ §
- i%:o
2 Fy =0 '
(20 — 120 =0 25 - V\M%’O




*H* - v\'wA;O
L () = 04y

B 20k )iz0) - 1545
aﬁS% -

Cin(e r\<(\/) W mrssmum A be

of ook before 5\‘5\‘/\% 'S

—

\ \\\ - Ny = \2 \an\tg\)




\ N -ned= 1) \Dwﬂ

('\I\C\U(&Q Zoh’\’e( bcﬁ\(SB



Page 7/

Wednesday, November 1, 2017 12:34

TAM 210/211

The scientist does not study nature because it is useful;

He studies it because he delights in it, and he delights in it because
it is beautiful.

If nature were not beautiful, it would not be worth knowing, and

if nature were not worth knowing, life would not be worth living,

- J.H. Poincare
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TAM 210

Thank you and best wishes!!

- Professor Juarez
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